6 класс
Тестирование по теме «Распределительное свойство умножения»
1 вариант
1) Вычислите :
А)           б)             в)              г) 
2) :
а)            б)         в)       г) 
3)  Решите уравнение 2х+3х=10:
А) 5            б) 7           в) 2              г) 8
4) Вычислите 7 (3+):	
А) 26                б) 21           в) 56              г)  
5) :
А)           б)          в)  9            г) 
2 вариант
1) Вычислите  :
а)              б)               в) 
2) :
А)       б)              в)                г) 
3)  Решите уравнение 4у-2у=12:
А) 6             б) 8             в) 10               г) 4
4) Вычислите 6(4+):	
А) 29              б)24           в) 56              г)  
5) Вычислите  :
А)        б)       в)  10           г) 
